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5.3. Derivation of Short Run Total Cost (SRTC) Curve

As stated before, Short Run (SR) represents such a period of time during the
production process, where all the existing factors can be decomposed in fixed as
well as variable factors. The SRTC curve is the graphical representation of the SR
Cost function. It shows the relationship between iotal cost of production incurred
by the producer and the level of output in the short run. i.e. SRTC curve is the
locus of different combinations between Q, the level of output and SRTC.

& 5.3.1. Assumptions in SR Cost Analysis

(i) Firms cannot vary the fixed factors in the short run like plant size.

machineries and other capital equipments

(1) Proper uulization of the fixed factors by the introduction of minimum

possible variable factor.

(ii1) Irrespective of the output level, ie. it may even zero, the firm has to incur

the ‘overhead-cost’.

(iv) Application of the Law of variable proportion in the short run means the

economies and diseconomies of production.

(v) Prices of the factors are fixed in the short run, ie. wage rate and ratc of

interest etc.

(vi; Indivisibility of the fixed factor but divisibility of the variable factor with

equal efficiency.

wvi!) Constant technology of production, i.c. no improvement.

On the basis of these assumptions one cost equation can be devecloped. Let the
short run production function is, Q = f (L, K) where labor (L) is the variable fac-
tor and Capital (K) is fixed. If wagg rate (w) and rate of interest (r) both are fixed
in the short run then the cost equation wili be,

TC = W. L 4 T.K crereereeresmimmminiinn (i)

where 7.k = Total Fixed Cost = I' > 0 {Constant]
and w.L = Total variabie Cost.
s, TC = TEC + TVC ., (ii)
= C=F + 1 Q)i (iii)

From this cost function, we can determine the relationship between ‘planned
output’ and ‘expected cost’. Joining thésg combinations, the Total Cost (TC) curve
in the short run can be obtained. Since(TC is summation of twoe components, TFC
and TVC, therefore the shape of the TC curve can be determined by the shapes of
TFC and TVC curves.

& 5.3.2. Shape of Short Run Total Fixed Cost Line

From cquation (i), TFC = t.k. Let TFC = F > 0, [constant] then the shape of
QI‘FC can be derived from the characteristics. The characteristics are as follows -
1. 'Irrespective of the level of output, the producer has to incur some amount
as ‘overhead cost’ or fixed cost; i.e. TFC # {(Q).
2. Even if the quantity is nil, we have some positive constant amount as tixed

cost, 1.e. at Q = 0; TFC = F > 0. /



. :C iinc will st:
3. Since we have one coordinate (O, F), therefore the TFC linc stari

from positive vertical intercept. _ o
4. Quantity may be incrcasing or decreasing,

free Fig. 5.1 whatever it may be, the amount ofA TFC 1g
constant. This is the reason for which TFC
will be a horizontal straight lm'c. |
By the diagram, TFC is a horizontal line,
i.e. for zero, Q,, Q, Q, — any level of out-
F>0 TFC put TEC is a positive constant.

& 5.3.3. Shape of Short Run Total
Variable Cost Curve

— B From equation (i), TVC = w.L. Since
: & % % Qf Jabour (L) is the variable factor, therefore w 1,

must be the variable cost. The shape of TVC curve can be derived from the char-
acteristics of TVC. The characteristics are as follows :

l. For the sake of simplicity, let TVC represents the cost of raw materiais.
Therefore for zero output, no such cost is to be incurred by the producer.
Thus at Q = 0, TVC = 0, ie. the TVC will start from origin for the
coordinate (0, 0). )

2. The amount of TVC depends on the level of output, produced by the
producer. Therefore TVC = f(Q).

3. Increase (decrease) in Q means increase (decrease) in TVC. Thercfore TVC

and Q both are directly related. Due to this direct relation, TVC will be
positively sloped. ;
Hence we can conclude,/;’TVC varies with the variation in Q, the TVC
curve starts from oriéfn and positively sloped. But whether it is a
straight line or curveiure, depends on the nature of production function or
the increasing rate of Q. We know, Q may increase at a higher rate, con-
stant rate or lower rate depends on the Law of Variable Proportion, this is
the derivation of “cost fuiction from ihe production Sfunction” or deriva-
tion of Total Variable Cost Curve from the Total Production Curve. Since
the Law of Variable Proportion (as discussed in previous Chapter 4.3)
means three returns, i.c. increasing return, constant return. diminishing
return to a variable factor (with ‘in’ the scale not ‘to’ scale) therefore
three possible shapes of TVC can be obtained.

— — — —— ]
——— - - —

4. It is to be noted that “Increasing Return” always represents “‘Decreasing
Cost”. Therefore initially due to the increasing retum, y
increasing at a higher rate which automatically means the 1otal variable
cost (TVC) is increasing at a lower rate. Hence, due to the “economies” in
production, the total production curve is convex to the horizon » ‘
total variable cost curve is concave to the horizonta
and OA, represent this situation.

production s

tal axis or
I axis. In Fig. 5.2, OA

5. At the next phase, due to the “Constant Return” or “Constant Cost”. nrc
duction and Cost both arc increasing at a Constant rate. In Fj : 5 % r"
points like A and A represent this situation. g8 5.2, the



6. Then, following the nature ol produc-
ton function, ‘Decrcasing Return’ will
operate which means “Increasing Cost™,

This is the “discconomies” in production
which wmeans  production is increasing atl a
lower rate or total variable cost is increasing
at a higher rate.  Thus the total production
curve is concave to the horizontal axis or total
variable cost curve is convex to the horizontal
axis. In Tig. 5.2, AB and A B, represent this
situation.

Hence, the TVC curve starts from origin,
positively sloped curveture—concave, point of
inflection_and convex to the horizontal axis.

Thus the TVC curve is the mirror image

of the total production curve. Since total production curve is

4 INC

R

0

fore, the TVC curve must be ‘Inverse-S’ shaped.

@ 5.3.4. Shape of Short Run Total Cost Curve

Since TC = TFC + TVC.
TFC and ‘inverse-s’
can be obtained by the following ways
1. As Q=0
TFC = F > 0, TVC =0
TC = TFC + TVC = F > 0
TC = TFC.

Therefore the shape of TC curve in the short run depen
shaped TVC curve. From these two, the shape of TC curve
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‘S’ shaped, there-

ds on the horizontal

Hence, both TEC line and TC curve will stari from the same “posi-

tive vertical intercept”.
2. .. TC = TFC + TVC

the shape of TC

with the variation of TVC.

Hence TC as well as TVC both the

3. .. TC = TFC + TVC

TC — TVC = TFC = Constant.
the vertical gap between
wrves TC and TVC musi
TEC, by which they

Hence,
these two ¢
he constant,
are parallel.
AB = CD

The Fig. 5.3 represents,
| cost curve will be

Hence the short run tota
Jqnverse-S' shaped like TVC. The former starts

from positive vertical intereept where as the

latter starts from Origm.

"1 v 1l '

mainly depends on the shape of TVC. TC will vary

curves will be ‘inverse-s’ shaped.

1
™ve
TFC

F>0 /

TC
/ Ve
A /
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Fig. 5.3 !
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® 5.3.5. Difference between TF )
]
TVC

r— DR

TFC

C and TVC

(i) TFC # f(Q)

(i) At Q =0, TFC = F > 0.

| (iii) TFC starts from positive vertical intef-
cept.

(iv) TFC is a horizontal line

(v) TFC cannot represent the concept of
economies or discconomies.

(vi) Marginal cost does not depend on
TFC.
(vii) TFC is a short run phenomenon.

[
) At Q=0 TVC =20

(iiiy TVC starts from origin.
TVC is a positively sloped curveture.

(iv)
the concept of

(v) TVC can represent
economies or diseconomiecs.

(vi) Marginal cost depends on TVC.

(vii) TVC is a Short-run as well as long-
run phenomenon.

5.4. Derivation of Short Run

Average Cost (SRAC) Curve

Let us consider one example first. To produce 50 uits of a product, cost of raw
materials is Rs. 1,500, wage of labour is Rs. 750, rent of a factory building is

Rs. 800, administrative salary is Rs. 4,000.
From this given information we can calculate the value of average cost by two

ways :

1. The first way is, the calculation of average cost (AC) directly from total

cost (TC).

TC = 1500 + 750 + 800 + 4000 = 7030

7050 _
AC = “Z5= = 141.

Hence, average cost of production is Rs. 141 for 50 units of a product.

2. The second way is, the calculation of average cost (AC) from total variable
cost {TV(C) and total fixed cost (TFC). By the given problem,
TVC = 1500 + 750 = 2250
and TFC = 800 + 4000 = 4800

TVC _ 2250

Average variable cost (AVC) = Q =55 = 45

TFC _ 4800

and Average fixed cost (AFC) = - Q 5 = 96

Hence, Average Cost = Average Fixed Cost + Average AVariable Cost

— AC =96 + 45 = AC

= 141.

The average cost of production is Rs. 141 for 50 units of a product

In the short run, average cost (AC) represents the ‘per unit’ Cost

TC _ TFC + TVC _ TFC . TVC

b AC = Rl
I'herefore, Q 0

= - Q + ———Q—— = AFC + ‘L\VC,

Hence the average cost (AC) is the summation of av )
. ' crag
and average variable cost (AVC). The shape of AC dcﬁ:nglgxe& Ct(})ls‘ (}:\FC)
' ) ¢ shapes
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of AFC as well as AVC in
(11) mentioned in the earijer

AFC = IFC _ F

= e—,— =

the short run. Following the equation (11) and
section 5.3.1. we can conclude,

Q . Q ........................................ - (1v;
_TVC Ww.L
Avc = YC _w.L
and C Q Q ........................................ (v)

So, let us discuss AFC first and then AVC. After the derivation of AFC
and AVC, the shape of AC can be derived by the process of ‘vertical sum-
mation’. One should remembes that we are counsidering short run, i.e. it
represe.,nts such a period of time during the production process where all
the existing factors can be decomposed in fixed as well as variable factor.

@® 5.4.1. Derivation of Average Fixed Cost Curve

It .rcpresems the ‘per unit' total fixed cosi. Since in the short run, time is not
sufficient to change the fixed factors like plant size, therefore total fixed cost
(TFC) is distributed equally over the total oulput.

TEFC _ F
AFC = —/——— = _
Q Q
The shape of AFC depends on the characteristics of AFC. They are as follows :
1. AFC depends on thc level of output.

We know, TFC = F > 0 [constant]

TFC # f(Q)
but AFC = T_'SQ - g
AEC = £(Q).

2. AFC curve must be negatively sloped.
F _ constant
AFC = — = —

Q Q

Therefore increase in Q means decrease in AFC. Due to this inverse rela-
tionship, the AFC curve must be negatively sloped. Any ‘first order
differentiation’ represents the slope, 1.e.

(AFC d (FY\_g d (1Y\_g d (4
e = E(G) =F.g5lq)=Fa(Q)

= F.(-Q?) = —5 < 0.

Since it is negative, therefore the AFC curve must be negatively sloped.

3. AFC curve must be convex to the origin.
For the convexity, the ‘second order differentiation’ must be positive. Let

us go for that, i.c.

FARC) _ 4 [IOFO)]. & _E]

T4aQ?  dQ[T dQ QL Q|
d (1) _ ,  md (A2
:(_F),aa[af)-< F) 40 (Q7?)

= (=-F).(=2).Q7 = 2F.-(~;T >0

Since it is positive, therefore the AFC curve must be convex to the origin.
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4. AFC curve must be ‘ASYMPTOTIC’ to the axes.

F constant
AFC = 2. =
Q Q

** AFC must be a “monotonically decreasing _function of
very close to zero or horizontal axis but never be zero or Cu p
Q increases, AFC decreases. Therefore for a large value of ‘Q .the value o
AFC must be minimum but still positive, never be zero. This is the reason
for which AFC curve is a asymptotic to both the axes.

5. All the rectangles drawn below the AFC curve are of equal areas.

Q, i.e. it may
ts the axis. As

ARC = EQQ = “(% AFC
AFC.Q = F = constant. I i.
Foliowing Fig. 5.4 !
(a) At point B, :
AFC = 0A,, Q = OC, A8
. TFC = AFC.Q N B,
= 0A,.0C, B,
= area OA B C, A c————
(b) At point B, : ol ¢ ¢ c, g
AFC = OA, Q= 0C, Fig. 5.4 L

* TFC = AFC.Q = OA,.OC, = area OA,B,C,
{c) At point B, :
AFC = 0A,, Q = OC,

~ TFC = AFC.Q = OA,.0C, = area OA,B.C,

Since by the concept, TFC is constant. B

Thercfore area OAB,C, = area OA,B,C, = area OA3B3C3.

Due to these above mentioned characteristics, the AFC curve is called
as the ‘RECTANGULAR HYPERBOLA'. —_—

~ %5.4.2. Derivation of Avéi'age Variable CbSt Curve

NS
It represents the‘per-unit’ total variable cost. From equation (v), we can develop
one relationship, i.e.

w.L

- ] WL W W
APLAr Fig. 5.5 AVC = Q Q‘ =
L

:\Fl: .............. (vi)

where, % = Average productivity of labour
APY A, = AP
n - L

AVC */fyc L This is the relationship by which (he cost
function can be developed from (he production
AVC | Min function. From the previous chapter [Section
| 4.3.1], Law of Variable proportion we know the
1 ——| AP, curve is “inverse-U” shaped—increa
rcaches at ‘its’ maximum and thep falling

sing,
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The shape of ‘AVC'dcpends on the shape of APL. Since the wage rate is con-
stant, therefore, following conclusions can be drawn from equation (vi) :

l. When AP, is rising = then AVC must be falling.
2. When APL IS maximum =, then AVC must be minimum.
3. When AP, s falling = then AVC must be rising.

Therefore, the AVC curve will be ‘U shaped because the AP, curve is ‘inverse-
U’ shaped.

@ 5.4.3. The Shape of Short, Run Average Cost Curve
Since AC = AFC + AVC

Therefore the shape of AC depends on the shapes of AFC as well as AVC
curve. We have throughout negatively sloped AFC curve, the rectangular hyperbola
in one hand and ‘U’-shaped AVC curve on the other. By the process of ‘vertical
summation’, the ultimate shape of AC curve can be obtained in the short run. It is
possible by two steps, discussed below :

Step—1 : When AFC and AVC both are falling

Since both the curves are falling, therefore the summation of the two, i.e. AC
must be falling.

= AC curve will be negatively sioped.
[Mathematically we can say,

d(AFC) d(AVC) 0
0 <0, iQ <
4 (AC)<0
= dQ

Where 'd%(AFC) = Slope of AFC curve
d
— (AVC) =
dQ( ) = Slope of AVC curve
a%(AC) = Slope of AC curve].

Step~II : When AFC is falling but AVC is rising

Since one is falling but other is rising, therefore the result of ultimate summa-
tion depends on the relative strength. Hence the conclusion relating to AC depends
on whether AFC is falling at a higher, equal or lower rate than the rising rate

of AVC. N
There will be three possibilities :

I. Falling rate of AFC > Rising rate of AVC
— AC is falling, negatively sloped.

2. Falling rate of AFC = Rising ratec of AVC
—» AC is constant, reaches at minimum.

3. Falling rate of AFC < Rising rate of AVC
— AC is rising, positively sloped.



|d(AFC)| _ |d(AVC)|

| dQ | ! dQ | |
From the above mentioned two steps, we have AC is fallin

rising, i.e. the AC curve in the short run must be ‘U’ shaped.

& 5.4.4. Relation Between ‘AVC” and “AC”

. AC and AVC both the curves are ‘U’- |AC4
shaped. AVC AC

FC
2. -+ AC = AFC + AVC : N AVC
AC - AVC = AFC. 4

The vertical gap between AC and AVC
curves represents AFC. Since AFC is
falling, therefore the rising portions of S
two curves are close to each other but
never cuts because if it cuts then AFC AFC
becomes zero, which is not possible, »Q
. . 0] )
mentioned earlier. Fig. 5.6

3. The minimum point of AVC occurs at a lower output than the outqu cor-
responds to the minimum point of AC. It means the minimym point of
AVC lies at ‘SOUTH-WEST’ to the minimum point of AC.

5.5. Derivation of Short Run Marginal Cost (SRMC) Curve

3. = —(AC)>0]

g, minimum and

Marginal represents the last unit. Therefore, marginal cost (MC) represents the
‘last unit’ cost. It is the addition to the total cost due an increase in production by
extra one unit. For example, let for 10 units of a product the total cost is Rs. 100
and for 11 units it will be 109. Therefore, marginal cost will be the extra cost for
the last unit or cost for the 11th unit, i.e. Rs. (109 — 100) = Rs. 9.

If TC, represents the total cost for Q, units of output and TC, for Q,, where

producuon is increasing, i.e. Q, > Q,,
ATC _ TC, - TC,

hen, = = :
hen MC =39 =Q-q

Mathematical Extension

The value of MC or the equation of MC can be derived from the total cost
function. Since the total cost curve is ‘inverse-s’ shaped, therefore the total cost
function must be cubic in nature. Let the cost function is,



@ 5.5.1.

ML = aQ = m—(\[ ) — 1% dQ )T OV-EQ W) dQ LIV
MC = 3Q* - 28Q + 69
Since the MC is ‘quadratic’ in nature, therefore it must be U-shaped.

Relation Between Total and Marginal Cost

The value of MC depends on the nature of TC. Three cases may happen :

1. If TC, > TC, = A(TC) > 0 = MC > 0.

2. If TC, = TC, = A(TC) = 0 = MC = 0.

3. If TC, < TC, = A(TC) <0 = MC < 0.

Hence marginal cost may be positive, zero or even negative. But rational
production behaviour only considers positive value of marginal cost.

i ‘& 5.5.2 Derivation of Short Run Marginal Cost (SRMC) Curve

As discussed earlier, short run represents such a period of time during the pro-
duction process where all the existing factors can be decomposed in variable and

fixed factorsé_,‘et the short run production function is, Q = f(L) where K = k = fixed

Hence for constant input prices like wage rate (w) and rate of interest (r), the
total cost equation will be,

e
Vs
Vv

" Now,

TC = w.L +1.k
Marginal Cost (MC) represents change in total cost.

A(TC) = A(W.L) + A(F.X)

= A(TC)=W.AL [+ A(F.k)=0]
_, ATC) _W.AL _ W A
AQ T TAQ TTAQ
W AL (vii)
e e e e e NS s s s Vil
= MC MP,
'. . AQ \\
where, MP, = Marginal productivity of labour = AL )
This is one another relationship by which |mp4 Fig. 5.7
the cost function can be derived from the pro-
duction function. { From the /previous chapter 4 MP, Max
[Section 4.3.2], (Law of Variable Proportion, we | |
know that the MP, curve is ‘inverse-U’ shaped. WP 4 : WP 4 P,
So with the help of the MP, curve the shape of | O MC : Mc4 MCL
MC can be derived./j} MC4 |
Since the wage rate is constant therefore MC:Min
following conclusions can be drawn from equa- ,
: e 1
tion (vii) : 5 a
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. 1. When MP, is rising — MC is falling.
2. When MP, is maximum = MC reaches at ‘its’ minimum,
3. When MP, is falling — MC is rising.
Then, in the short run, the MC curve must be ‘U’ shaped because the MP,

curve is ‘inverse-U’ shaped. )

® 5.5.3. Relation between Marginal and Variable Cost
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tion of these two curves the final SRAC curve can be determined. But in the long-
run. we have simply the variable factors. One factor which was fixed in the short
run, becomes variable in the long run. Due to the absence of the fixed cost or the
AFC curve in the long run, a single ‘U’ shaped curve will represent AVC as well
as AC in the long run. }

The short run cost curves are derived from the law of variable pmpm"r'o"
where as the long run cost curves are derived from the returns to scale. Now
returns to scale can be explained in terms production as well as cost. Ffvr cxamplc’:.
increasing returns to scale means “production is increasing at a hlghc-zr rate’.
Therefore with respect to the cost, the language will be ‘‘cost is increasing at a
lower rate™ or “per unit cost is decreasing.” Hence increasing returns to sc‘ale
means decreasing cost, constant returns to scale means constant cost and decreas-
ing returns to scale means Increasing cost. One better conclusion we can draw
from this analysis; je. the LRAC must be ‘U’ shaped initially falling due to
increasing returns to scale or decreasing cost, then reaches at its’ minimum
point due to the constant returns to scale or constant cost and finally rising due
to the diminishing returns to scale or increasing cost.

As we discussed before, in the long run, all the factors are variable. So the
target of the producer is the selection of optimum or equilibrium combination of
two inputs in such a way by which the total cost will be minimum for a given
output level. For ditferent output levels, there will be different equilibrium combi-
nations. Hence a producer will move along the expansion path which is the locus
of these equilibrium points. Since in the short run, the scale of production is fixed
therefore the short run curves are derived from “returns to variable factor” or
“returns with in a scale” or “law of variable proportions”, where as in long run
the scale is variable means the long run curves are derived from “returns to
scale”. -

The derivation of LLRAC is possible by the equation (iv), mentioned in the pre-
vious section, i.e. C = 1(Q.S) + j(S).

Now, for «n2> valuc of ‘S’ means one plant size or scale of the production
process. For one value of 'S, there will be one SRAC curve. So for different val-
ues of S, there will be different SRAC curves. From these SRAC curves, the fi-

na] LRAC curve can be drawn.

vy Let us consider}fthree different- values of ‘S’
or (three plant sizés. So we have three SRAC

g 3

‘% ?urves, 1.€. SRAC|, SRAC;,, SRAC3. It is very

g tmportant to note that in the short run, the
ANLC movement of the producer s restricted along a
=7 D single SRAC curve, i.e. either along SRAC, or

SRAC, or SRACJ,}because the plant size or

scale is fixed. But'in the long run, it is possi-
ble to shift or to move from one SRAC to an-
other. If means the producer can start to move
along SRAC,, then he can shift to SRACz,

Fig. 5.17 lhfcn .SRACB etc. It is possible dye to the fact

: that in the long run the scale or plant size is
variable. So the producer will select that plant size or SRAC curve which will lie
below compare to the available alternatives.

[ == = = m SRAC:
SRAC,

ov
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The derivation of LRAC mainly concerncd to the following problems -
(1) LRAC is flatter ‘U’-shaped than SRAC.

(if) LRAC is the envelope to the SRAC curves.

(111) LRAC is the planning curve.

(1v) LRAC represents differcnt returns to scale.

Let us consider the diagram. To produce 0Q, level of output, the producer wili
choose the first plant size or SRAC,. This is a definite choice, because following
the diagram, the producer has no ophon i.e. the vertical line cuts the SRAC, only.
But for OQ, level of output, he has option. The 0Q), level of output can b" pro-

_duced by the first as well as the sccond plant size. The vertical line drawn cuts
the SRAC, at point B and SRAC, at point A. Hence choice or selection of second
plant size meam higher per unit cost of AB. So the producer will choose the first
plant size, because the target is minimisation of cost But for 0Q;, the producer
may choose the first plant size or the second plant size, because for both plant
sizes, per unit cost is same. Since SRACi and SRAC,, these two curves intersect
at point M, therefore MQ, represents the per unit cost to produce the 0Q level of
output following the first as well as second plant size. But if the plan of the
producer is expansion then he will select the second plant size.

Similarly for 0Q,, the firm will select the second plant size ox/)SRAC because
now the first plant size represents extra per unit cost of CD. For 0Q,, - the firm
will select the third piant size because then the second plant size w*nl represent
higher per unit cost EF. For OQ,, again he will be indifferent because point ‘N’
represents the intersection where NQ. will be the per unit cost following the
second and third plant sizc.

One important featurc relating to the movement of the producer in the short
run is the movement must be restricted along a single SRAC curve, where as in
the long run the firm will choose that portion of SRAC curve from the available
alternatives which will lie below than the other. In the diagram, the thick route
represents the long run movement of the producer,

/It is to be noted that, for three available plant sizes or SRAC curves, we have
two intersections like M and N. Hence for ‘n’ nos, of SRAC curves we will have
(n—1) intersections. Joining these intersections, the LRAC curve can be determined.

/Thus the LRAC curve is the locus of these intersections. If the no. of plant sizes
is large then the intersections will be very closc to each other and lie below. It
means the LRAC must be flatter than the SRAC curves.

/ The LRAC curve will be the ‘envelope’ to different SRAC curves, i.e. it must
be the outer-target to different SRAC curves but intersects none. Following Lipsey,
“the LRAC provides boundary between attainable and unattainable levels of cost.”

0J Relation between SRAC and LRAC

(i) LRAC is falling duc to the increasing returns to scale (IRS) and(the fall-
ing portion of LRAC is tangent to the falling portions of different SRAC

curves.

(i) LRAC curves which is flatter U-shaped, reaches at ‘its’ minimum point
duc to the constant rcturns to scale (CRS) and there will be a single SRAC

curve, where(the minimum point of LRAC is tangent to the minimum
point of SRAC curve. )
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4 SRAC (1ii) LRAC 1is rising due (o the l?lmlnxslllfng
Return to scale (DRS) and( the rising
portion of LRAC i1s tangent to the\. rising
portions of different SRAC curves./

(iv) Considering any one SRAC curve from the
RAC, SRAC, | Fig. 5.18, we can note that at the

tangential point, SRAC = LRAC. Any

LRAC

SRAC, ~ SRAC,
SRAC,

point other than the tangential point rep-

: resents SRAC > LRAC, because the SRAC

! > curve lies above. So, SRAC > LRAC or

o) Q' Q SRAC = LRAC. Since LRAC represents
Fig. 5.18

relatively lower cost of production, therefore

LRAC curve is called the ‘Planning curve’.

(v) By the diagram, OQ represents the ‘ideal’ or ‘optimum’ output because at
that level SRAC as well as .RAC both are minimum

(vi) The shape of LRAC can repre
of resources. We can conclu
LRAC represents

sent the returns to scale as well
de that the falling / minimum /
under / perfect / over-utilisation of existing
T Exception to the Shape

For a veneral mrovdo gt ¢ e

as the utili sation
rising portion of
resources.
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